Trigonometry Functions - Class Xl

Past Year JEE Questions

Questions
Quetion: 01
If L =sin?(%) -sin?(%) and
M = cos?(£) - sin?(Z), then :
A. L= _21VZ+ écosg
B.M = 21V2+ écos g
C. M= 41VZ+ %cos 35[
D.L= 11\72— lecos g

Solutions
Solution: 01

Explanation

We will use here those two formulas,

sinZ 9 = 1759 “nd cos? g = 1305 20
L =sin?({&) - sin?(Z)

L= ( l—zos({y_ ( l—céos(;y

> L= é (cos(g) - cos(g))

> L= ZIVZ_ écos(g)

M = cosz(-l’-’b) - sinz(%’)

M= ( 1+clos(%}_ < l—ios(éfy

=>M=21V2+écosg




